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Section A: Unseen Prose

Passage 1

A hastily assembled Athenian army inflicts an embarrassing defeat on a Corinthian force.

The Corinthians seized the heights of Geraneia and invaded the territory of Megara with
their allies, thinking that the Athenians would be too occupied with Aigina to help the
Megarians or, if they did, they would be forced to abandon Aigina.
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ol 8¢ AOnvaiol 10 pev mpos Alyivn orpdtevuo oK Ekivioav, TV & &k TS
ToAsws Omoloimwv 0l 1€ mpecPOTATOL KOl Ol VEDTOTOL adikvoLvTol €IS To.
Méyapo, MupmviSov GTPATNYOLVTOS.

1
Kol UOYMS YEVOUEVNS 10OPPOTOL , EVOUIOQY OOTOL EKATEPOL OVK EAACOCOV
Exewv &v 10 Epym. xal ol uev AlOnvaior (ékpartnoav yop Ou®S HAAALOV),
9 ’ ~ ’ ~ 2 3 \ ’ ’ 3
aneA0oviov tov KopivBiwv tporaiov. éotnoav. ot 5¢ KopivOior kakxi(ouevor
OmO TV &V TN TOAEL TPECPLTEPWV, KoL TAPOCKEVACAUEVOL, TUEPOUS VOTEPOV
Swdeka EAOOvTeS avlioTaoay Tpomalov Kal odTOl @S VIKTIOAVTES.
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Kol ol ABnvaior gxfondnocavies ek t@v Meydpwv T00S TE TO TPOTOLOV
¢ 4 I4 \ ~ b4 / 9 4 3 \
lotavras dagbsipovor kai tois arrois EvuPaiovies exkparnoav. ot OE

- 4
VIKOUEVOL VEXWPOLY, Kal TL avTOV UEPOS oUK OMyov, mpocfiachsev' kol
Siauaptov s 050D, eicémsosy sis yoplov @ Etoyev Spvyua’ péyo
- 6 5 5 -
repieipyoV’ kol o0k Ny ££080s. ol 8¢ AOnvaiol, meploTHoOVTES KUKA® TOUS
yilols’, katélevoav® mdvras tovs eiocelOdvras, kal mdos uéya toLTO
Kopwoiois yévero.

Thucydides 1. 105-106

Names
ta Méyapa Megara
0 Mupwvidns -ov Myronides
Words
! iodppomos —ov indecisive
% 10 Tpomaiov trophy
3 ’ .
kakiCo | insult, mock
* npooBidle | put under pressure
> 70 Spuyna o Spbynaros ditch
¢ nepielpyw | surround
7 o1 yidol light-armed troops
8 karorebo | stone to death
1 Translate Passage 1 into English. [50]

Please write your translation on alternate lines.
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Section B: Unseen Verse

Passage 2

The dying Alkestis, in the presence of the Chorus, tells her husband
Admetos to look after their young children when she is gone.

ALKESTIS: Children, you have heard your father say that he will not
marry again when | die, and that you will still be held in the same
respect.

ADMETOS: | did say that, and | stand by what | said.

AL: On that condition, then, receive our children from my hand.

Séxouai, giov ye SOPov ek PIANS yEPoOs.
ol VLV YevoD 10108 avt’ LoD UNTne TEKVOLS.
TOAAN 1> avayKkn, 600 ¥’ ORECTEPTUEVOLS
@ TéV’, Ote (v xpnv 1, ATEPYOUAL KATO.
oiuot, Tl Spacw SNToL 6oL LOVOVUEVOS, 5
’ ’ 1 s S o/ 9 5 € ’
xpovos palaéel 6’ o0SEV €60’ 0 KaTOovwv.
Ayov e oLV 60l, TPos Oedv, AyoL KATO.
2
Kol Unv oKoTEVOV. duua 1ov PBapdverod.
5 ’ R \ ’ ’
arwiounv ap’, 1 pe onN ASIYes, yoval.
e s 7 s B SN N ’ 5 g
WS OVKET’ ODOAV OVOEV AV AEYOLS EUE. 10
L% 3 ’ \ ’ -~ ’
opBov’ mpocwrov, un AMrns roidas cebey.
H ~ne € ~ 7 a0 \ ’ s 3 ’
ovL OnNb’ exovoa v’ Ao YAIPET, O TEKVA.
BAéwov mpos avtovs, PAEyov.
OVOEV i’ €11,
’ ~ ’ .
TL 0PAS, TPOAEITELS,

FEeiededeieieieey

xop’.
anwAounv talas.
BéPnkev, oOKET Eotiv Aduntov yuvn. 15
Euripides, Alkestis 376ff.

Words
' nordoow | heal
? 6KOTEWVES —1) OV dark, in darkness
3 6pBdw | lift up

2 (&) Translate Passage 2 into English.
Please write your translation on alternate lines.
(b)  Write out and scan lines 3—4 from Passage 2.

TOAAN W avaykn, 6o0 ¥’ AmECTEPTUEVOLS

@ TéV’, Ote (v xpnv 1, APy ol KATo.
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H444/01 Mark Scheme June 20xx

Guidance on applying the marking grids for translating into English

The general principle in assessing each section should be the proportion (out of 5) of sense achieved.

One approach for each section is given. Acceptable alternatives will be illustrated during Standardisation, but examiners should assess on its own
merits any approach that satisfactorily conveys the meaning of the Greek — the crucial consideration being the extent to which every Greek word is
satisfactorily rendered in some way in the English.

The determination of what a “slight” error is only necessary when it is the only error in a section; this distinction will then determine whether a mark
of 5 or 4 is appropriate. Where marks of 4, 3, 2, 1 and 0 are applicable, the overall proportion of meaning conveyed in the section is the only
consideration. The term “major” error has been used here to determine an error which is more serious than a “slight” error.

The classification below should be seen only as a general guide, the intention of which is to maintain standards year-on-year. Lead markers should
consider each instance on its own merits in the context of the passage and the section.

It is likely that some of the errors below may be regarded as “major” if they appear in a relatively short and straightforward section, whereas in
longer or more complex sections they are more likely to be a “slight” error.

The sort of errors that we would generally expect to be considered as “slight” errors would be:

. a single mistake in the translation of a verb, for example incorrect person or tense

. vocabulary errors that do not substantially alter the meaning

. omission of particles that does not substantially alter the meaning (although in certain cases the omission of a particle may not count as an
error at all, most especially with pev... ¢)

The sort of errors that we would generally expect to be considered as “major” errors would be:

more than one slight error in any one verb

vocabulary errors that substantially alter the meaning

omission of a word or words, including alteration of active to passive if the agent is not expressed
missed constructions

alteration in word order that affects the sense

The final decisions on what constitutes a ‘slight’ and ‘major’ errors will be made and communicated to assessors via the standardisation process
(after full consideration of candidates’ responses) and these decisions will be captured in the final mark scheme for examiners and centres.



H444/01 Mark Scheme June 20xx

Marks | Description

5 Accurate translation with one slight error allowed
4 Mostly correct

3 More than half right

2 Less than half right

1 Little recognisable relation or meaning to the Greek

0 = No response or no response worthy of credit.
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Mark Scheme

Section A: Unseen Prose

June 20xx

Question Answer Marks Guidance
1 The passage has been divided into 10 sections, each worth 5 marks. Award up The below are intended as examples of
to 5 marks per translated section according to the 5-mark marking grid found “slight” and more serious “major” errors,
above. others may be identified at standardisation.
ol 6¢ ABnvaior 10 pev mpos Alyivn otpatevua ovkK EKivnoay, 5 | very short section: all errors will be major
(i)
But the Athenians did not move their army that was at Aigina,
TV & K THS TOAsws LIOAoITwY Ol T¢ TPecPOTATOL Kal Ol VEDTATOL 5 | slight errors: ‘old/young’, or ‘older/younger
agicvovvrau gis To Méyapo, Mupwvidov otpotnyobVTOos. for ‘oldest/youngest’; ‘into’ for ‘to” or ‘at
(depending on translation of
) but the oldest and the youngest of the remaining men from the city went to adkvovvtal)
(i) | Megara under the generalship of Myronides.
major errors: taking twv VTTOAOLTIWYV as
subject; failure to recognise genitive
absolute
Kol LayMS YEVOUEVNS 10OPPOTOD, EVOULOQY OOTOL EKATEPOL OVK 5 | accept any reasonable translation for ok
EAOLOOOV EYEV EV T EPYQ. EAoOOV EXELV €V T EQYQ
(i) | When an indecisive battle had taken place, each side believed that they had had major errors: failure to recognise genitive
the better of the affair. absolute; failure to take avTol ékategol
together
Ko ol [Lev AGnvoczoz (z—:Kpocfnoocv yap OUws Haiiov), anelloviov Tov 5 | accept any reasonable translation for
KopwOiwv tporaiov Eotnoav. EKQATNOAV YO OHWS HAAAOV
(iv) . e : iy
And the Athenians (for they had in fact had the better of it), when the Corinthians major errors: failure to recognise genitive
went away, set up a trophy. absolute
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Question Answer Marks Guidance
ol 6¢ KopivOior kaxi(opevor OTo v &v TN moA&l mpeoPuTépwv, Kal 5 | slight errors: ‘old/oldest’ for ‘older’
V) TOPAOKEVACOLHEVOL, major errors: voice of participles
The Corinthians being insulted by the older men in the city, and having made
preparations,
nuépous Votepov Swdska EAO0vTES avlicTaoay Tpomatov Kal oTol 5 | slight errors: ‘on the twelfth day after’ for
@S VIKIHOQVTES. ‘twelve days later’
(vi) . o . ‘
went out twelve days later and Meusetres set up a trophy in reply, as if they had major errors: mistranslation of wg plus
won. participle
Kol ol AOnvaior ékPondnoavies éx v Meydpmv oS 1€ TO 5 | major errors: failure to take ToVG ...
ponaiov iotavras dSiadleipovaot kal tois dArois EvuPoldvies lotdvtac together; failure to recognise
(vii) | ekpaTnoay. Tolg &AAoLg as the object of
And the Athenians came out from Megara to help, killed the men setting up the Evppadovre
trophy, engaged the others, and defeated them.
0l O& VIKOUEVOL DIEYMPOLY, KAl TL ATV UEPOS OVK OALYOV, 5 | accept ‘and they, having been defeated’, or
npocPrachey kol Staytoptov Ths 0500, and they were defeated gnd... or any
other reasonable translation
The defeated (Corinthians) retreated and so not a small part of the men, being . » e
. . slight errors: ‘not a few’ for ‘not a small
... | put under pressure and losing their way, ,
(viii) (part)
major errors: failure to recognise
npooPlacOev and diapapTov as neuter
participles agreeing with pépog.
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Question Answer Marks Guidance
EICETECEV €IS YWPILOV @ ETLYEV OPLYUC UEYQA TEPIEIPYOV Kl OVK NV 5 | accept ‘which a deep ditch happened to
&£000s. surround’
(IX) . A ] 13 ) .
fell into a place which happened to be surrounded by a deep ditch and from fg%?it/zrr?gn\g:}: or 'to” which for the
which there was no way out. P
ol 6¢ ABnvaiot, meplotnoavies KOKA® ToUs WIAOUS, KOTEAELGOV 5 | accept eg ‘this caused great suffering to
ravras Tovs sioeAbovras, kol tabos uéya tovto Kopvbiois yévero. the Corinthians
(X) | The Athenians stationed their light-armed troops around them in a circle and major er/rors: faﬂure 0 reIC(.)gr?|se. that
stoned to death all those who had gone in, and this was a source of great TLEQLOTHOAVTEG s transitive; failure to
distress to the Corinthians. take avrag tovg elceABovtag together
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Section B: Unseen Verse
Question Answer Marks Guidance
2(a) The passage has been divided into 9 sections, each worth 5 marks. Award up to 5 The below are intended as examples of
marks per translated section according to the 5-mark marking grid found above. “slight” and more serious “major” errors,
others may be identified at
standardisation.
Séyouat, gpilov ye Swpov Ek PIAns yepos. 5 | slight errors: not translating ye
O VLV YEVOU 010G GVT’ L0V UITNP TEKVOIS. major errors: not recognising that yevov
0] is imperative/a verb; ‘my mother’ or
AD: | receive them: a dear gift indeed from a dear hand. similar for épov unTneE
AL: You then must be a mother to these children instead of me.
T ~ , 5 slight errors: ‘child’ for ‘children’
TOAAN I’ avaykn, GOV ¥’ ATECTEPTUEVOLS.
& téxv’, Ste Giv xpiv 1, drépyouc kdTo. major errors: taking cov with
" ATEOTE ¢volc / mistranslating cov
(||) onu
AD: It is very necessary that | do, as they will be bereft of you.
AL: O my children, when | should be living. | am going down below.
24 ’ ’ ~ ~ ’ 5 H . . \ .
oluot, i Spdow dita Gob povoduevos; major errors: taking oov with
, , . , pHovovpevog; failure to capture
Xpovos poddéet 6* 003Ev €06 0 katbavav. effectively the sense of ‘the one who has
died/a dead person is nothing/of no
(iif) account’ (eg translating as ‘nothing is the
AD: Alas, whatever am | to do, left alone by you? dead one’)
AL: Time will heal you; one who has died is of no account
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Question Answer Marks Guidance
» \ , \ ~ , 5 allow ‘my dark eye grows heavy’
ayov L ovv oo, TPos Bewv, AyoL KATO.
v oy , slight errors: not recognizing idiom of
KOl U1V OKOTEWVOV OUUQA [LOL BopLVETAL. . _ _ ‘
1Og Oewv (eg translating as ‘take me
(iv) with you to the gods’)
AD: Take me with you, for the gods’ sake, take me down with you. _ L
major errors: not recognizing &yov as
AL: Ah! Now my eye grows dark and heavy. . .
imperative
anoAdunv ap’, 1 ue on Aelyes, yovau. 5 | slight error: taking o0d¢V in the wrong
. s g, s an n , s place in the sentence (‘say nothing’)
WS OVKET’ oDOAV OVOEV AV AEYOIS ELE.
v)
AD: | am destroyed then, if you are really going to leave me, my wife.
AL: You may speak to me now as one who is nothing any more.
opBov mpocwmov, un Anns raidas cE0ev. 5 | slight error: mistranslation of oé0ev.
vi) ov onb’ ekovoa y’ major error: not recognising 6pBov as
AD: Lift your head, do not leave your children. imperative; taking £xoDod as part of £xw
AL: | do not do this willingly, for sure: so farewell my children.
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Question Answer Marks Guidance
arla yolpet, @ Tékva. 5 | major error: not recognising BAéov as
BAéwov mpos avtovs, PAEyov. Imperative
) o088V i’ £
(vii)
AD: Look at them, look
AL: | am no more.
T Spas; npoAeirners; 5 there are very few words in this section so
~ any error will count as major
xoup’.
i) aroAdunv taras.
viii
AD: What are you doing? Are you leaving me?
AL: Farewell.
AD: Alas, | am destroyed.
ﬁéﬁn;{gv’ Ol’)KéT, gGTlV ASHT}TOU J/U\/Ti_ 5 there are very few words in this section so
(ix) ) ) ) any error will count as major
Cito: She has departed: the wife of Admetos is no more.
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Mark Guid
Question Answer arks uidance
Content Levels of Response
2(b) 5 Two lines give 6 feet; each correct

TOAAN I’ avaykn, 600 ¥’ mECTEPTUEVOLS.

& TéxV’, Ote (v ypnv 1, anépyoual Karo.

v — |-

vV — |-

- V- |V—-vVv-

- V- |[v—- Vv-

foot should be ticked and the
number of ticks converted to a mark
out of 5, as to the right.

Foot divisions should be ignored.
This means that credit should be
given for two or three adjacent
syllables correctly marked, if they
make up a correct foot, even if the
candidate has split them into
separate feet.

5 6 feet correct

4 5 feet correct

3 | 4 feet correct

2 3 feet correct

1 1 or 2 foot correct

0 None correct

10
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APPENDIX 1: ASSESSMENT OBJECTIVE GRID

Distribution of marks for each Assessment Objective
Question
AO1 AO2 AQO3
1 50 - -
2 45 - -
3 5 - -
Total 100 - -

11
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